SERAF M (R))  #HFRE

S{UER—{E]

FORN —MEHFEEONRE




A A
824X5=4)20 313X6=|818
824 313
x 5 X 6
4120 1873

1. EEEHEATEXWERE? HAlFEESRI S LK.
2. YRR EFET BT ER.



|

S

)

0+0+0+0+0+0+0=0 (14>)
0X7=0 (/)

0 9X 0=

7X0=0 ()

0x0=| 0

@.@ OFIAT TS TR #5150,

[ =

J



3 IR Z S

= PRIV
BIGHIE G2 N8I X, B X A604N AL, iz5)ig3t
[ 2 DAL ?

604 X 8= 4832 ()

| 600X 8=4800, K
/1% 4800 N £ —1k,

6 0 4
X ;8 P JFORA X
9 U 25 ST
4118 || 3

M. A EEJL? (0X8=0, hnidt FEI3E




>
— 55

—A

OFMAE AT HiAH e #

—A

SAEA AL N .

A

(FEE: &

-

N2 0H) v

(150

A O R 3fed%
BHAREPEARRE, WAL, H— A3
Rk L2 A m—Ar ERH, RBE—67, Ak

Kb 1] 5 A — A7 KA

Fel, EAEMRMTA 506, WA FRIEL

AN £




0 X 2=

2X0=

0

o X 0=

5+0= o

0

0X6= 0

6X0= 0

0X8= 0

0+8= 8



e () BELEE SR
1 (%) 0=0 0 (+)a=4 0 (x)4-0
7(=)7=0 10 (x )0=0 0(%) 0=0

(e — FE RANME—)



f

e HARIRAE T ] ) 0 L
207 | 106 | 205 | 408 | 396 | 657
828 | 424 | 820 | 1632 | 1584 | 2628




inn

= PR5Z5>]
— AR

209X 4= 836 605X 7= 4235 203 X 3= 609
2009 605 203

X 4 X 7 X 3
83 6 423 5 6 09

509 X 3= 1527 403 X 6= 2418 508 X 4= 2032
5009 403 508

X 3 X 6 X 4

1527 2418 2032



. fEOHIE L “>7”

0+0=0X0

102X 3©300+3

306 X1©306+1

“ jz “_»
= —
- (0]

HbX0©5X5
800+5©800 X5

407 X 5504 X4



=. FVEBEK kKRR ENZ308 T &Y, T
R B EAEHES 2 DT R

308 X7=2156 (T 7)

Zre WAFR A BV E RS 2156 T i &



Zo

U, —kBWHEL0570, — AN ERI e X R E T
WERI3RE, KXERRILT Z D

105+105X3=420 (Ju)

E KX ERRILF420704k .



